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Section II : Maths (30 Questions, 60 Marks)

Q.21 A wire of length 80 cm is bent to form a rectangle of length 25 cm. Find the breadth of the
rectangle
1) 55cm 2) 30 cm 3) I5cm 4) None of these
Q. 22 If Mangesh sold 40 caps at Rs. 50 each, he would make a profit of Rs. 400. Find the cost price
of each cap.
1) Rs. 40 2) Rs. 50 3)Rs. 35 4) Rs. 60
Q. 23 Find the value of x, if the four numbers 1, 2, 3 and x are in proportion.
1)4 2)6 3)5 4)1
Q.24 Find mif12.2436-1.2=m
1)1.23 2)10.203 3)10.23 4)1.203
Q. 25 Find the square root of 7744.
1) 74 2) 82 3) 98 4) 88
Q. 26 Express 625 in the index form using base 5.
1)52 2) 252 3) 5% 4) (5%)*
Q. 27 Which of the following is definitely true?
1) complementary angles are adjacent angles
2) vertically opposite angles are adjacent angles.
3) Supplementary angles are adjcent angles
4) Angles in linear pair are adjacent angles.
Q. 28 What would be the total cost of 8 books each of Rs. ‘m’ and 3 pens each of Rs. ‘n’.
1) Rs (8m x 3n) 2) Rs. (8m + 3n) 3) Rs. (11 mn) 4) Rs. (8n + 3m)
Q. 29 Which of the following expression gives value of 97.
D 11x2+(B+6)x 12 2)11x(2+3)+6 x12
3) 11x2+3+6x12 4H11x2+3+6x12)
Q.30 G.C.D.of31and32is........ .
1)31 2)32 31 4)31x32
Q. 31 Which of the following integers is greater than (-22)?
1)-23 2)-1 3 2 4 2
)- )- )% )
Space for Rough Work
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m
Which is the coefficient in the term T ?

1
1)3 2)1 3)3x3 4) 3
If p=(-1) and q = 2 find the value of qp - p*q>.
1)-6 2)0 3)-4 4)-2
Subtract 3abc - a? from abc + a’
1) 2abc - 2a* 2) 2 (a?- abc) 3) 4abc 4) -2abc
Which of the following statement is not true?

1) The solution of the equation 2x -3 =71s 5

2) 1 is the least prime number

3) The number less by 5 than twice of x is 2x - 5
4) The statement 16 - 7=4 + 5 is true

Which of the following is the value of 3.4%?

1)0.34 2) 340 3)0.034 4) None of these
What percentage of 90 is the number 54?

54,
1) 60% 2) 50% 3) 54% 4) 20 %o

Roma took a loan of Rs. ‘m’ from women’s co-operative society and returned an amount of Rs.
‘n’ to the society after one year. What was the intersest she paid?
1) Rs (m -n) 2) Rs. (n-m) 3) Rs. (mxn) 4) Rs. (m+n)

In how many years the money gets doubled itself if the rate of simple interest and period is
same?

1) 10 years 2) 2 years 3) 100 years 4) 1 year

A sum of Rs. 3000 amounts to Rs. 4200 in 5 years. Find the rate of interest?

1) 24% 2) 8% 3) 8.4% 4) None of these

What is the sum of all exterior angles of an isosceles triangle?

1) 4 right angles 2) 360° 3)2x 180° 4) All correct

Which type of triangle will be AABC where, /A =9(0° and seg AB and seg AC have equal
lengths?

1) Acute angled triangle 2) Right angled triangle

3) Isosceles right angled triangle 4) Equilateral triangle

Which of the following will be the description of APQR ?
1) seg PQ=3.4 cm, seg QR = 3.4 cm, seg PR = 7cm

2) m£P =65°, mZQ =90°, m/R =95°

3) seg QR =seg PQ = 5cm, mZ£Q = 60°

4) seg QR =5 cm, seg PQ =10 cm, seg PR = 15cm

Space for Rough Work

Specially Designed for Jr. Newton Talent Search Exam - 2012. www.JrNewtonExams.com
CONFIDENTIAL® copyright 2012 Brilliant Publication, Pune. % : 9370223572/ 020-64010923



Std. : Sixth [Semi English] 5

Q. 44 Find the ratio of second quantity to first quantity 15 seconds 1 min 15 sec.

1:5 2)5:1 3)3:25 4)25:3

Q. 45 An iron block of dimensions 30 cm high, 0.4 m long and 15 ¢cm broad is divided into small iron

blocks of dimensions 3 cm high, 4 cm long and 1.5 cm broad. How many small iron blocks
would be obtained?

1) 10 2) 100 3) 1000 4) 10,000
Q. 46 If the side of a square is doubled what will be it’s area?

1) Area will be double 2) Area remains same

3) Area will be half 4) Area will become four times

Q. 47 Which of the following is definitely true

Q. 48

Q. 49

Q.50

1) /(BE)=/(0OC)+(0A) 2) Arc AE =I(BE)

3) I(AC)=I(AD) 4) m/COD = 90°

Which four-digit greatest number formed by using digits 4, 7, 3, 6 only once, is divisible by 11?
1) 3467 2) 7643 3) 7634 4) 6734

Which of the following are non-collinear points?

. \A B/ C.

Q
E D
F G
D (E, Q) 2) (F, H) 3)(A,B,C) 4) (Q,G H)
Find the correct statement
1) 58 (23 +79) =58x23+79 2) 125x564+436x 125 =125 x 1000
3) 56x0+83 =56 x 83 4)83-38=38-83

Space for Rough Work
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Section III : Science (30 Questions, 60 Marks)

Q.51 Which of the following is a non-flowering plant?

1) banyan 2) fig 3) bougainvillae 4) fern
Q. 52 Which of the following does not reproduce through seeds?

1) mango 2) rose 3) jamun 4) tulsi
Q.53 Full form of F.P.S. is .......... .

1) foot, pound, second 2) food, pole, second

3) four per second 4) None of these
Q.54 - is counted in reams.

1) mass 2) weight 3) paper 4) water
Q. 55 In persistence of vision the image stays for -------- second.

1) %Oth 2) %Oth 3) %th 4) %th
Q. 56 Motion of butterfly is ---------------- .

1) linear 2) circular 3) random 4) rotatary
Q. 57 Which kind of lever are the kitchen tongs?

1) Ist order 2) IlInd order 3) IlIrd order 4) None of these
Q. 58 Which form of energy does a matchstick contain?

1) Physical 2) Chemical 3) Mechanical 4) Solar
Q. 59 Which of the following does not have a ribcage?

1) cow 2) buffalo 3) cat 4) None of these
Q. 60 Which of the following is not the component of environment?

1) Air 2) Soil 3) Water bodies 4) atmosphere
Q.61 --—-- % of the earth’s surface consists of water.

1) 80% 2) 60% 3) 70% 4) 50%
Q. 62 Which minerals are found in the mantle in large quantities?

1) iron, magnesium 2) carbon, manganese

3) gold, manganese 4) copper, gold
Q. 63 Find odd man out :-

1) gastric juice 2) intestinal juice 3) saliva 4) alveoli
Q. 64 Tha lakhs of little sacs in the lungs is called -------------

1) lungs 2) intestine 3) alveoli 4) rib-cage

Space for Rough Work
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Q.65 - is a sublimating substance.
1) sand 2) naphthalene 3) turmeric 4) salt
Q.66 ---—-—---- is a never ending source of energy.
1) Mechanical 2) Electrical 3) Solar 4) Atomic
Q. 67 In Maharashtra a major hydro-electric power project is located at --------- dam.
1) Koyna 2) hirakud 3) Jayakwadi 4) Pavna
Q. 68 Stored energy is called -------- energy
1) Kinetic energy 2) Mechanical 3) Potential 4) Electrical
Q. 69 Which is the unit used for indicating the speed of car running on road.
1) cm/sec 2) m/sec 3) km/hr 4) None of these
Q.70 ---—---- force always acts against motion.
1) muscular force 2) frictional force 3) magnetic force 4) mechanical force
Q.71 Find the odd man out :
1) metre 2) kilogram 3) gram 4) second
Q. 72 The flat part of a leaf is called ----------
1) leaf margin 2) lamina 3) apex 4) petiole
Q. 73 The innermost whorl of flower is -------- .
1) gynoecium 2) calyx 3) androecium 4) corolla
Q.74 Find odd man out :
1) fish 2) monkey 3) lizard 4) snake
Q.75 Which of the following are biennials.
1) jowar 2) carrot 3) marigold 4) sunflower
Q.76 Calyx : Sepals : : --------—---- : Petals
1) corolla 2) androecium 3) gynoecium 4) calyx
Q.77 Find odd man out :
1) cat 2) cow 3) hen 4) mouse
Q. 78 Which of the following elements is a non-metal.
1) copper 2) mercury 3) Aluminium 4) Sulphur
Q.79 Earthquakes occur because of the movement of :
1) Outer core 2) Crust 3) Mantle 4) Solid inner core
Q. 80 Root that grows from the radicle is called :
1) prop root 2) fibrous root 3) adventitious root ~ 4) tap root
Space for Rough Work
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